15

12

24







A

v







mSRB-A

v



(*)

1000mm><670mm




SRB-A(L)

3smm 50  / SRB-A R
16mm 250 / SRB-A R
150

500




11-29. 13:33:04

.!:!!! =1
-I!r”.r'1 -.'u E’




[ -16mm, -35mm |

-35mm ]

[ -16mm, -35mm ]



Fault Tree Analysis












SRB-A

4 5
1
1
1
SRB-AR )
SRB-AR )
SRB-AR )

SRB A
SRB A
LAT
LAT
LAT
SRBA-R
FTA



10




SRB-A(R

)

11

62sec

66sec



12

10
A
B
A
A
B
B
C




) \ e

139 [ ] <

13






19



=======7"

I=========771
| |

—————————— e e ]

—— e e e e e
|
N —

F—-
I

(200
N |

210

30

240

90

360

270

16



61

61.5

62

62.5

63

17

63.5

64

64.5

65



~

[21[3] —

[ +—

(8] —

[41[5] —

[71

[4] [5]

[1]
90 I Hi! " 270<
No.1
[71 No.2
45<=

[5]

2.5m

18



D C/C:
CFRP

SFRP
CFRP,

4340 |/ CFRP

4340

CERP SS400

A 4340

6061

Im

A

19

v



20



2.1-5

21

B)




15172

1

2203 1225
/=X3-2 l!ﬂzizg 49349 £-9 gg_n;\ 487979 P0331-H /A%

SRB-A

No.1

OO

No.2

OO

180<

No.

22



[T

23



No.1

Oo

No.2

OO

7

[ 11

J

s ”
e

=

-

180<

24



‘l No.2




[T

26



[ T

217



[T

4

fm/@%

28



[T

\\
)
;

29



No.1

Oo

[T

30



[ T

31






80mm

1)

(2)
(3)

1)
(2)

80mm

33




mm

kW/m2

kW/m2

34



39



36



40

35

30

25

20

15

10

i 62.25 180<
e eatoA
| 63.05
No.1 || No.2
Oo
61 615 62 625 63 635 64 645

37

sec

65



8.0

6.0

4.0

2.0

0.0

7.0

9.0

10.0

11.0
kW/m2

38

12.0

13.0

14.0




120

S
T
6“ J—
4 o
o
/
by | ™
P ~ e
! <
o)
~ 7
4
3 —
J/ o
| -
L o
[ee) [{e] < N o [ee) !
N (V] N N N —
a
=
o o o o o
m (o] o < N

30

25

20

15

10

39



\ 140
: . — !v’! 1/ _

I
9.5

280

- Ay ——

(1/2)

(2/2)

40



mm

[ A N R

-7~
.

i Tl e e T [ S ittt S B B et e e L B B

K R T T A R R S R R R

b

[

0

10

41



12

mm

5o

X7

3o

7.5

42



12

11

10

dddq-—-———————-

09

4444

AT T A AT AT AT T T T T T T T

il

B L L L I L L L UL O O O O

AN

e ,,—————
0.8

R

V]

0.7

P G e g g g

0.6

05

43

04

0.025s
0.3

IR IR
B
R S S W SN

VUUVUVUVNVUVUV

e e e
| L

115

00 01 0.2

-0.1



09

08

0.7

T T T T T T T T T T T T
T D O B AR IR A I
RN
[T T T T T I I O O
RERE RN
[Crr T a7 1T
[T T T T T I I O O
R
T T T [T T 11 [T T T 1] 1717
IR
| [ I O O OO
i ST T T T T T
| [ I O O OO
| [ I O O OO
= i I I
| [ I O O OO
| [ I O O OO
O e e e e B R e I I e A
[T T T T T I I O O
[T T T T T I I O O
I O Y Y O A R R R
[T T T T T I I O O
[T T T T T I I O O
TN S A
e e
[T T T T T I I O O
RERE RN
[Crr T a7 1T
[T T T T T I I O O
R
e e
[T T T T T I I O O
[T T T T T I I O O
e e et e et e e e B e i i
[T T T T T I I O O
A i iy A B
e e el e e e e BT T T B B
[T T T T T I I O O
[T T T T T I I O O
= I I P S
= [ I A e R A A A I B R R
[T T T T T I I O O
T Y Y Y AR
[ T T T I R O O B O
= ,l, - Ll 1| Ll |
S Oy e e — e g
R
[T T T T T I I O O
T D O B AR IR A I
RN
[T T T T T I I O O
ﬁ [RERE RN
A [Crr T a7 1T
[T T T T T I I O O
R
T T T [T T 11 [T T T 1] 1717
[T T T T T I I O O
[T T T T T I I O O
Y e e et e et e e e B e i i
[T T T T T I I O O
[T T T T T I I O O
O e e e e B R e I I e A
[T T T T T I I O O
[T T T T T I I O O
T Y Y Y AR
[T T T T T I I O O
[T T T T T I I O O
I O Y Y O A R R R
[T T T T T I I O O
[T T T T T I I O O
TN S A
e e
[T T T T T I I O O
RERE RN
[Crr T a7 1T
[T T T T T I I O O
R
Frr a7 ITTT
| | - Ll
o o o o o o o o
© <t N o o © <t N
— — — —
1
W

06

05

3 04

0.

0.2

0.1

44



X X

45




2.5ms 150ms

100 No.1
e : & ‘--:-' - N02
80________ EE B EREEE
NTF_E 6[} ‘-__'_;._-ﬂ. =4 L i::__
= . 4l L L
e 1 | { . g =
; 40 f
2{:}—"_““ ‘:.- ::]z.-.-.....-..-....- EEEEEEEEEE i B
6 1 i . : L
02 03 04 05 06 07

46



47



48




wn
©
<]
E |
i | —
E ol | o
1 B== S
Il | 0
1| °
o
* 2|
4 =
| ©
B T:
0
o 3 n
=] ©
— | 3
|
o
3
% 4 ™
o™ » ©
©o
[ e/
wn
]

VL

62.2s
o v
62

615

40

35
30
25
20
5
10
5
0
61

& — — = — = e e e e e — = = = =

> [ETTTrS

€ — — — — - e e - 4

> [EETRTEETRTEERP YT

49



0.6

0.8

1.0

0.8

04

0.2

70MW/m?

13kW/m?

13kW/m?

0.8

90






